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I 20169 JISH= -F, 3, Akl Ui H&F ZAREd Q9%

"J

(] 7}l ARkRe @KWt} 21.4% , 7HS5 LRSS 22.8 242t 74

O 7FSHlZ ¢ ('15) 1,436 — ('16) 1,128 E(-308 A &)
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1 F AR AdRo 271% 24
O

2 : ('15) 104 — ('16) 75HE(-28HE)

(1 ARt ALEe AGES 1.1%, B A2 8.8% 47 4
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20169 JISHi= -5, 3 Akl Ui H&F ZAREL

1 7heuE -

7t &
[ 2016\ 7F2vla AAFS 11278 Eo 2 HAdRTE 214% A
O AujHAS Z+Aet 12 9 7HE I3 5 7140 =
10ad Aol 125% #HAdte] AA AAzFe AdHG

21.4%30W8H E) &

(1 2016d 7S5 AAFEFLS 407N AECE AWHET 228% a4
O AuER o] AWRT} 62% A5, A7) 2He H 2 U=A7H

5 5 718 SR 10a8 Aatke] 17.8% A 4she

~

A AFe AdET 228%(11U8HE) Ta

< HeME R AWAA R YLF >
A WA A 10a% A2 R
‘15 16 |SHE| 15 '16 | FHE| 15 '16 | FRE
ha % kg % e %

ZhEu S | 12,724 | 11,429 -10.2] 11,286 9871 | -125| 1436 1,128 -214

7V = | 5769 5414 -62| 8999| 7401| -178 019 401 | -228
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AAstes 327 ne L MR S I 719
(Sta=srMAZRSSA, S0, &2 kg, 11~128 E)
('14) 401 — ('15) 440 (39&, 9.7%)

O Adel 7h=5 7h4stetad 1l g9 Vb o8 Wols AxE
- AR 7]
* 2R HA(S2sSLAZTRESAL, T, &F tkg, 11~128 E2)
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3. A}z}-u)

[1 20161 A AYsbare 577 ECE AAGBSTBHE) R} 1.1% T4
O AR} Ao AulH -2 2%13,880ha= %1'd(25H,965ha) H.C} 8.7% 57}

- OE o] wla) Ao 250] kg Ao, Ay B3 FE
S0 met AuEy 7}

O At#e] 102 A4t 2414kg 0 2 WA(2,654kg) 2 TE 9.0% T4
- e A2 dsjz ZAdeert dasileon, 3 mitr]e] <
ez Agfo] Fst 10aT Aol A
(] af AyakeFe 3uisdEc 2 Ad@26THAE) ) 88% 74
O Hj A3 AuE AL 191333haz A (19H,782ha) Bt} 12.3% 74
27 7Esle) mE wEE BHE gl S0l slet Soa AuHA 7k
O 119 10aT AAHFLS 2303kg o2 Ad(2,215ke) Tt 4.0% SV}
-84 FHoE A HHZE T4 ey, A2FErt AW
AA R AM3AE 7 55k 100 AW Aol =7}

T

< AVDE-HH THOHOIR o AsARE >

K, 10a% AAE PR
'15 16 |[SHE| '156 ‘16 |3 E| 156 '16
ha % kg % HE %

AR # 121,965 | 23,880 87| 2,654| 2,414 -9.0 583 o6 -1.1
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1. 7255 AL

7h A= AR

(1) 7S

A ouf 102t A &b RN
15 16 SUE 15 16 | BLE 15 16 SUE
ha % kg % = %
H= 12,724 | 11,429 | -10.2 | 11,286 | 9,871 | -12.5 11,436,075 [1,128,121 | -21.4
Ma 7 3| -57.1 9,324 8,461 -9.3 653 254 | -61.1
A 84 41| -512 | 11,137 | 11,180 0.4 9,355 4584 | -51.0
CH = 51 47 -7.8 10,444 9,630 -7.8 5,327 4,526 | -15.0
oA 197 119 | -39.6 | 12223 | 10461 | -144 24,080 12,449 | -483
a3 78 84 77 12,352 | 9,050 | -26.7 9,635 7,602 | -21.1
CH 58 45| 224 12,194 | 8818 | -27.7 7,073 3,968 | -43.9
4 101 53 | 475 12,071 | 10545 | -126 12,192 5589 | -54.2
MZ - 47 - - | 10,757 - - 5,056 -
47| 1,383 1280 | -74| 10,7038 | 9890 | -7.6 148,026 126,596 | -14.5
RS 960 897 | -66| 10,424 | 10,619 1.9 100,067 95255 | -4.8
55 1,402 1,249 | -109 | 10,961 9,562 | -12.8 153,675 119,431 | 223
Ea=1 1,426 1,227 | —14.0 11,161 9872 | -115 159,151 121,128 | -23.9
o= 1,586 1,282 | -19.2 11,169 9918 | -11.2 177,136 127,151 | -28.2
Mg 3,349 3,021 -98 | 12265 | 10,342 | -157 410,740 | 312,418 | -23.9
q= 1,431 1,454 1.6 9895 | 9,078 | -83 141,599 131,991 6.8
g 609 578 | -5.1 12,667 | 8,636 | -31.8 77,142 49917 | -35.3
X == 2 2 00| 11,327 | 10,342 | -87 227 207 8.8




@ 7ew

A oel A 10ae 4 e o A E

15 '16 SHE| 15 16 | SHE 15 '16 SHE

ha % kg % = %

= 5,769 5,414 -6.2 | 8,999 | 7,401 | -17.8 | 519,178 | 400,686 | -22.8
Ma 4 2| -500( 8,038 | 7,804 -2.9 322 156 | -516
T4 23 18 | -21.7 (10,771 | 7,565 | -29.8 2,477 1,362 | -450
CH = 14 1] 214 7270 | 5898 | -189 1,018 649 | -36.2
ol 9 62 | -374|10401 | 8173 | -214 10,297 5067 | -50.8
g 144 145 071 9936 | 7974 | -19.7 14,308 11,562 | -19.2
o 33 16| -515( 7,793 | 7,256 6.9 2,572 1,161 -54.9
s 77 26| -662| 9019 | 7,089 | -214 6,945 1,843 | -735
NS - 32 - - | 8,690 - - 2,781 -
47 1,020 889 | -128| 8638 | 7,384 | -14.5 88,108 65,644 | -25.5
¥ 354 322 901 7,153 | 6,954 2.8 25,322 22,392 | -11.6
B 102 160 569 7,445 | 6,730 -9.6 7,594 10,768 41.8
Bt 1,397 1,040 | 256 9360 | 7,332 | -21.7| 130,755 76,252 | 417
H= 831 1,056 271110242 | 7,342 | -283 85,113 77,533 -8.9
M 987 1,039 53| 8532 | 7,738 -9.3 84,213 80,396 -4.5
45 377 33 | -111 | 7574 | 5923 | -218 28,554 19,842 | -30.5
4 253 163 | -356( 9818 | 7279 | -259 24,840 11,866 | -52.2
X == 54 98 81.51 12,484 | 11,646 6.7 6,741 11,413 69.3




U A= QA
7 & b F 7€ F
el ™A | 10aTde2E | A A2 Mul ™A | 10aZder2E | M o3

ha kg = ha kg =
'03 12,596 9,183 1,156,652 11,345 5,688 645,350
'04 13,858 10,212 1,415,161 11,629 6,729 782,469
'05 11,001 10,134 1,114,821 8,854 6,542 579,212
'06 14,368 9,896 1,421,858 9,758 6,838 667,218
‘07 12,178 9,351 1,138,757 7,162 6,409 459,048
'08 14,693 10,241 1,504,639 8,948 7,544 675,013
'09 14,462 10,946 1,582,966 7,771 8,034 624,297
10 13,540 8,773 1,187,840 7,473 6,333 473,230
11 17,326 10,948 1,896,828 9,748 7,354 716,854
12 13,408 9,681 1,298,084 6,826 7,324 499,956
13 15,095 10,174 1,535,802 7,532 8,483 638,902
14 15,233 11,150 1,698,463 5,498 8,746 480,870
15 12,724 11,286 1,436,075 5,769 8,999 519,178
"16 11,429 9,871 | 1,128,121 5,414 7,401 400,686




2. T AAF
7t A2 AL
oo M A 10a S 4okt o L2k
15 16 ZHE | 15 16 | BHE 15 16 SHE
ha % kg % = %

= 56,666 49,014 | -13.5 183 154 | -15.8 | 103,504 | 75,448 | -27.1
ME 6 - - 86 - - 5 - -
T 34 28 | -17.6 172 13| -343 58 32| -448
CH = 172 103 | -40.1 157 129 | -178 270 133 -50.7
oA 412 174 | -57.8 60 55 -8.3 248 9% | -61.3
3 149 210 40.9 156 161 3.2 233 338 451
CH 100 80 | -20.0 178 154 | -135 178 123 | -309
=4 158 159 0.6 192 143 | -255 303 228 | -248
ME - 124 - - 216 - - 267 -
47| 5,309 435 | -18.0 142 108 | -23.9 7,561 4685 | -38.0
A ! 4,899 4392 | -10.3 203 190 6.4 9,952 8,354 | -16.1
55 7,976 6,247 | 217 198 171 | -136 15,828 10,682 | -325
sd 4,863 3,691 | -24.1 175 175 0.0 8,489 6,453 | -24.0
o= 4,325 3,880 | -10.3 227 149 | -344 9,804 5782 | -41.0
o 9,465 8,083 | -14.6 171 162 -5.3 16,150 13,072 | -19.1
= 9,826 8,580 | -12.7 180 133 | -26.1 17,731 11,401 -35.7
4 4,089 3419 | -164 207 137 | -338 8,476 4689 | -44.7
WIS 4,883 5,488 124 168 166 -1.2 8,217 9,113 10.9

_10_




U, 9= A4
oo M A | sy | 10aY E AR | Mdgy) o A 2F FMiAch]
zuE zzs e
ha % kg % = %
'03 80,447 -0.4 131 -7.7 105,089 -8.6
'04 85,270 6.0 163 24.4 138,570 31.9
'05 105,421 23.6 174 6.7 183,338 32.3
'06 90,248 -14.4 173 -0.6 156,404 | -14.7
'07 76,267 -5.5 150| -134 114245,  -27.0
08 75,242 -3 176 17.7 132,674 16.1
'09 70,265 6.6 198 12.4 139,251 5.0
10 71,422 1.6 147| -256 105,345 -243
11 77,849 9.0 166 12.7 129,394 22.8
"2 80,842 3.8 152 -8.8 122,519 -5.3
"3 80,031 -1.0 193 27.0 154,067 25.7
14 74,652 -6.7 187 -3.1 139,267 -9.6
"5 56,666 |  —24.1 183 -2.1 103,504 | -257
16 49,014| -135 154| -15.8 75,448 | -27.1
S -




3. Akl A2k

b A= A

AT 71F)

1 Akt
A b B 10a gt A Atz N o

15 16 SHE | '15 16 | BSHE 15 16 SHE
ha % kg % = %

d= 21,965 | 23,880 8.7| 2,654 | 2,414 -9.0| 582,845 | 576,369 -1.1
Mg : : - - - - - - -
T4 1 4 3000 2660| 2218 -16.6 27 89| 229.6
o=+ 52 76 462 2977 | 2,141 -28.1 1,548 1,627 5.1
ol - 7 - -1 1,163 - - 81 -
_T'C_>F_7|S — — — - — — — — _
CH & 2 17 7500 2,553 | 1,895 -25.8 51 322 | 5314
= 3 15 400.0| 2,660 | 2277 -14.4 80 342 | 327.5
e - - - : - - - - -
47| 170 192 129 1,611 1,163 -27.8 2,740 22341 -185
z3 218 440 1018 2,052 | 1,313 -36.0 4,472 5,778 29.2
55 2,789 2,995 74| 2483 | 2332 —6.1 69,242 69,846 0.9
e 962 1,226 2741 2553 | 2,196 -14.0 24,560 26,924 9.6
H= 1,237 1,565 265| 2804| 2,620 -6.6 34,688 41,008 18.2
M 235 453 928 | 2264 | 2,047 -9.6 5,320 9,274 74.3
4= 13,759 | 14,585 6.0 2,708 | 2,521 -6.9 372,627 367,710 -1.3
4 2,537 2,305 -9.1| 2660| 27218 -16.6 67,491 51,134 | 242
kS - - - : - - : : -

_12_




(2) =N

Mool M A 10aT A AHEF o A

15 16 SUE 15 16 | BUE 15 16 SHE
ha % kg % = %

M= 11,782 | 10,333 -12.3 | 2,215 | 2,303 4.0 260,975 | 238,014 8.8
Me 22 14 -36.4| 2260 | 2,221 -1.7 497 311 -37.4
5ok 12 39 2250 1,469 | 1,732 17.9 176 675| 2835
CH = 2 14 600.0| 1,896 | 1,441 -24.0 38 202 | 4316
! 106 131 236 | 1,413| 1,362 -3.6 1,498 1,784 19.1
23 35 41 17.1 1612 1,720 6.7 564 705 25.0
o & 71 128 80.31 1,739 | 1,921 105 1,235 2,459 99.1
24 567 555 2.1 929 950 2.3 5,270 5,272 0.0
MZE - 137 - -| 2234 - - 3,061 -
a7 2,141 2,078 29| 2260 | 2221 -1.7 48,384 46,144 -4.6
ze 127 145 1421 1511 1,600 5.9 1,919 2,320 20.9
55 412 341 -172| 2435| 2,228 -85 10,034 7597 | -243
EA=1 2,198 1,963 -10.7| 2543 | 2,607 25 55,898 51,179 -84
85 598 617 32| 2,160 | 2,503 15.9 12,916 15,446 19.6
Mt 3,388 2,437 -28.1| 2538 | 2836 1.7 85,980 69,119 | -19.6
a5 1,308 1,124 -141 1,896 | 2,105 11.0 24,800 23,664 4.6
&= 787 569 =277 1,469 | 1,419 -34 11,562 8,077 | -30.1
M == 8 - -1 2,538 - - 203 - -

_13_




L Al =8 AR 2

Al 3} Hi
AN ouf oA S PN G RS oA EF

15 | 16 |(B3&E| 15 16 |BUE| 15 16 |B34E| 15 16 |BUE

ha % = % ha % = %

M =31,620 | 33,300 | 5.3| 582,845 |576,369 | -1.1] 12,664 | 11,164 | -11.8 | 260,975 | 238,014 | -8.8
Mg - - - - - - 24 14| -417 497 311 | -37.4
24 1 6| 500.0 27 89 | 229.6 12 44 | 266.7 176 675 | 2835
o =+ 66 81| 227 1,548 1627| 5.1 3 23| 666.7 38 202 | 431.6
ol X 24 8| -66.7 - 81 - 164 157 | -43| 1498| 1,784| 19.1
2 - 2 - - - - 43 41| -47 564 705| 250
S 4 20 | 400.0 51 322 | 5314 73 137| 877 1235 2459 | 99.1
M 4 19| 375.0 80 342 | 3275 567 555 | -2.1 5270 5272 0.0
M - 15 - - - - - 150 - -| 3,061 -
47| 330 295 | -10.6 2740 | 2234| -185| 2426| 2248| -7.3| 487384| 46,144| -46
zel 721 831 153 4472 | 5778 | 292 134 159 187| 1919 2320| 209
=52 3984 | 4087| 26| 69242| 69846| 09 502 412| -17.9| 10,034 | 7597 | -24.3
=ub| 1283 1,600| 247| 24560| 26924| 96| 2,334| 2,094 | -10.3| 55898 | 51,179| -84
ME | 2223 2360| 62| 34688| 41,008| 182 618 681 102| 12916| 15446| 19.6
Myt 289 554 | 917 5320| 9274| 743| 3499| 2499| -286| 85980| 69,119| -19.6
ZAE | 19247 20,083 | 43| 372627 | 367,710 -1.3| 1422| 1309| -79| 24,800 23664| -46
A 3444 3339| -30| 67491 51,134 | -242 835 641 | -232| 11562 | 8,077 | -30.1
X = - - - - - - 8 - - 203 - -

_14_




o} A= AyAE

IR E

Al 3 HH
el e 100 dAZF| 4 A =F | A HA | 10aT MARF | M A 2

ha kg = ha kg =
'04 16,889 2,115 357,180 17,385 2,599 451,861
'05 16,379 2,244 367,517 17,101 2,592 443,265
'06 17,888 2,279 407,621 17,481 2,468 431,464
‘07 18,796 2,318 435,686 17,519 2,668 467,426
'08 18,534 2,541 470,865 16,583 2,839 470,745
'09 19,179 2,578 494,491 15,253 2,743 418,368
10 20,582 2,236 460,285 14,772 2,084 307,820
"1 21,395 1,774 379,541 13,831 2,100 290,494
12 21,629 1,824 394,596 13,346 1,293 172,599
"13 21,602 2,285 493,701 12,727 2,217 282,212
"14 21,399 2,218 474,712 12,230 2,475 302,731
"15 21,965 2,654 582,845 11,782 2,215 260,975
"16 23,880 2,414 576,369 10,333 2,303 238,014
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2 " =3

AF o HY
A v ™ = oF 2 Xy v ™o = N A2

ha = ha E
'04 26,676 357,180 22,982 451,861
'05 26,907 367,517 21,807 443,265
'06 28,312 407,621 20,656 431,464
‘07 29,358 435,686 19,888 467,426
'08 30,006 470,865 18,277 470,745
'09 30,451 494,491 17,090 418,368
10 30,992 460,285 16,239 307,820
11 31,167 379,541 15,081 290,494
"12 30,734 394,596 14,353 172,599
13 30,449 493,701 13,740 282,212
14 30,702 474,712 13,127 302,731
"15 31,620 582,845 12,664 260,975
16 33,300 576,369 11,164 238,014

_16_
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